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Order the numbers below from least to greatest and classify each.

4?,—3,—5.&,0,2,—%

qm

a0 |

If 4(x—2)+6x=12+5x, what is the value of 2x—37?

Write and solve an equation to represent the following:

The quotient of 6 and the quantity of 2 times a number added to 4 is equal to 8

Solve each equation.

5.

3(2x-5)=23x-2)

Hour:



6. On the first day of the year, Alicia has $1000 in her savings account and started spending $25 a
week. Her sister Kelsey had $650 in her savings account and started saving $15 a week. After
how many weeks will the sisters have the same amount? What will that amount be?

7. Acyclist travels 56 miles in 4 hours. What is the cyclist speed in feet per minutes?

8. The ratio of junior varsity members to varsity members on the track team is 3:5. There are 25
varsity members on the team. Write and solve a proportion to find the number of junior varsity

members.

9. Solve the equation. Write a justification for each step.

Statements Reasons

—(x+4)=2x+6

10. A totem pole casts a shadow 45 feet long at the same time that a 6 foot tall man casts a shadow
that is 3 feet long. Write and solve a proportion to find the height of the totem pole.
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Solve each inequality and graph its solution.

1) 44>-2(-7+v) 2 Ly T9*x
> 11
22 =20 -18 ~16 -14
‘—18 -16 —i4 -12 -10 -Sr

3) 7(6k+3) <—14 + Tk 4) 26+ 8k < —6(7k - 4)

DA S e O
5) 8(1+v)=5(5v+3)<-7v-3v 6) p+2-5p-2<—4(p+3)+2(p-1)
T E 6 234561 NENEREREREEEEY

Translate the words into an inequality and graph. Then find all of the choices that would have this
graph as a solution.

7) A number is at least —3.
A) x+232-4(x-2)
B) 2x+7-x2>22x+4
C) 6x<18
D) 2(x+1)<3x+5



Solve each compound inequality and graph its solution.

N x-T7=21lor2+x<3

-2-101 2 3 4 5 6 7 8 9 1011 12

L
g

8) ~-1<><0
8

el
i+

-10 -8 -6 -4 -2 0 2

¥

10) 10x - 1 <39 or 6 — 8x < —42

11) 5k+5<-40 or -8 — 5k < -48

oo -

1 2 3 A 3 X 3
< T T Y y T T T T T T Y T T >

BT Ty e B DS i e s m L e
-1 0 1 2 3 4 5 6 7 8 9 101 -12 -§ 4 0 4 8 12

12) The French club is sponsoring a bake sale. If their goal is to raise at least $140, how many pastries must
they sell at $3.50 each in order to meet that goal? Write and solve the inequality.

13) The width of a rectangle is 33 cm. The perimeter is at most 776 cm.
a) Write and solve an inequality to find the length of the rectangle.

b) Write an inequality to find the area of the rectangle.

14) Four times the quantity of the sum of a number and 15 is at least 120 and no more than 165. Write and
solve a compound inequality to find all possible values of x.
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1. Find the domain and range of each relation. Then determine if it is a function. Is it a linear

function?
a. {(ll 5); ('11 3)1 (2I 7)r (81 10)/ (‘2, 3)} c. X '3 -1 0 1 3
2 6 [10] 14 | 18
b s d v
. < )
e ¥ L
2 [n L
- P i s ‘-r w I X M L 1 ‘;
a V' - L
N~ -
L ey v e

2. Given the set of points, illustrate the domain and range in 3 different ways (i.e. mapping, table,

graph).
{('1r 2): (11 9)! (_11 '3)1 (31 9): (5: 8)}

3. If f(x)=2x*+3and g(x)=—4+2x, evaluate each of the following.

a. g(2) b. f(-1) c. gB)+s(-4)



4. Alan pays AT&T a flat fee of $60 a month plus $0.20 per minute over his monthly package. Write
a function to represent Alan’s total bill.
a. How much is Alan’s bill if he talks 10 minutes over his monthly package?

b. If Alan’s bill was $80.20 how many minutes did he go over his monthly package?

Write a function to represent each table, pattern or sequence.

s. | x| 2] 46| 810 6. a,=10 d=—4
fx)| 412538

7. 0@ 000 00000 Q...O:.Q
L X N 0000
® 00000
Construct a graph, given the information below.
8. flx)=3x-1 mue S Eammsmmamy




9. Compare the functions below (steepness, domain, and range, positive vs. negative rate of

change) s y
i : Y
’ /
! A
. 5. / '3
™~ A L
PISI
4 4 B~ - S — % V4 i i [ x
1 §2006 =1 2§ 2005 —i=L
gnes Azzdiine gnes Azzdiino
Steepness: Steepness:
Domain: Domain:
Range: Range:
Positive/Negative Positive/Negative
y-intercept: y-intercept:
x-intercept: x-intercept:

10. Using the graph to the right, find the following:
a. x-intercept ) /
b. y-intercept /
c. f(-3) IHEEREN
d. findx when f(x)=8 // B
/

11. Find the x- and y-intercepts of the following equations.
e. —3y+4x=-24 b. 6x=2y+12
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Sketch the graph of each line.

1) 5x+3y=—6 2) 3x-y=4

A

A
wY
Y

R O P P i | ] 1 3

Write the slope-intercept form of the equation of each line given the slope and y-intercept.

3) Slope = %, y-intercept = 0

Write the slope-intercept form of the equation of each line.

4) 6x+ 7y =-56

Write the slope-intercept form of the equation of the line through the given point with the given
slope.

5) through: (0, —5), slope = 1?0 6) through: (—1, —3), slope = —%



Werite the slope-intercept form of the equation of the line through the given points.

7) through: (—1, —5) and (—2, 1) 8) through: (—2, —1) and (—4, —4)

Write the slope-intercept form of the equation of the line described.

9) through: (—3, 3), parallel to y =—6x + 5 10) through: (—3, —4), parallel to y =-5

11) through: (—3, 2), perp.to y=x—2 12) through: (—5, 5), perp.to y=4

Describe each transformation from the parent function.

8 3
13 =—'x+3 14 :———x—3
)y i )y 4
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Simplify each radical expression.

R

—x/ﬁ,—3,—.5.66,0,2,——§- ~J1z= =3,
-3 =7 3 .
,5‘66: “Sibb
o = O
T 1
e, 'O-(D?'
3
v | v |
iviv
AN
3, |If 4(x—2)+6x=12+5x,whatisthevaluéof 2x-37
M - § Flox = 124 5X Sx=ze . Mzlu)-3
\1Ox =~ & =1245% 5 -3
-5X ~-5x% X=Y4 ] E
) |

‘51(-' LAY2

. Write and solve an equa?on to represent the following:
The quotient of 6 and the quantlty of 2 times a number added to 4 is equal to 8

_Ea_:g (o=8(2x+)y . v

2x 1 0= lbx +32
—~32 ~32 X -3
Solve each equation. .2(2_: !_(‘p_l_(_ ’ 8
. 1 16
5. 3(2x-5)=2(3x-2)
oy -15 = bx-4
"(0_)_<_ ~bx [
-15=-4 I/\)o S%lu%onk



6. On the first day of the year, Alicia has $1000 in her savings account and started spending $25 a
week. Her sister Kelsey had $650 in her savings account and started savmg $15 a week. After
how many weeks will the sisters have the same amount? What will that amount be?

1000725 X = @50 + 5% o= /,___
2X fkdy £ 75 WC’be
= (50 + {0 ’
_',%0,.?, ~bso i .35 =X

7. Acyclist travels 56 miles in 4 hours. What is the cyclist speed in feet per minutes?

50 milgs o ! th—. .—‘ £260 f+ 295,680 feet
4 noves (00 modS | mile "~ 2do minvkes

= 1232 feety,,

>
8. The ratio of junior varsity members to varS|ty members on the track team is 3:5. There are 25

varsity members on the team. erte and solve a proportlon to find the number ofjumor varsity

members. 3 X 5x_ 362{3 i |
= E 5 X = 7S
9. Solve the et;ttation. Write a justification for-each stejp. X = )5— ‘Iv MWS
Statements Reasons
—(x+4)=2x+6 Griven
o X Addihon POE
-1z 3x +0 Simpu¥ ,
—9 " Gubmz;i:l’wx Pos
—..1.2 = }_X S\ h\p”F\f
3 > Diviswn  POE
-.B = X Simelify

10. You have deuded to palnt the outside of your house. The total amount of space you will be
palntlng “is 1000 square feet You found a hardware store nearby that sells the paint you would

like. Below are the sizes of paint available. F.nd w-l— PW q .F“{-
—H‘ﬁ - 066
&0

1 gallon (covers 80 square feet) - $45
5 gallon (covers 400 square feet) - $110

$110 - 0.2%5
(?_E'lr 1 How can you cover the 1000 square feet in tfgi;st:c;st effective way?
2 5 all (00) = S0 2(10) = 220 “‘?3";;” © 3(4o)= 1200 Sg. FH
3 1 Gall (go) r 240 34 135
1040 g, f+  H355 _3(a10) = $330

/3 5 Galln Bvo/u/'; (
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Solve each inequality and graph its solution.

AN
1) 44> -2(=7+v) r_3 —9+x
> 2)&2¥

=22 -20 -18 ~16 =14 . F_ —é
. ¥ ‘—]8 —i6 : —;4 —;2 : —iO : —:8:

44> |4 -2V
-4 -1y -1l &9 X
30”>-2Y 9  +§

. 3

et

~ N -
3) 726k+3)< 14+7k : 4) -26 + 8k < —6(Tk ~ 4)
=2

-3 01234567 —6-5—4—3—2—101234

-2 +&k ¢ -4k +M

ﬁ\;n\ ¢ -4 4'_‘-;'!2 i Rk - ruzk
: . 20 +50Kk & 24
BKR +E-IH el Yo T 4te
e g A Sok 450 <
%51“ i‘i_ . =0 o k4|
5) 8(1+v)— 5‘(’v+3 )<=Tv-3v 6) p+f-5p-2<—4(p+3)+2p-1)
—3—2—0]234567‘_ <i§i;é 5:5;1101'11'2'
¥ +8§v -8v-1g ¢—lov -dp ¢-Yp-12 $2p-2
“13v-F {-lov ~4p & -2p —IY
iy iRV Fip +7p
— ~ILI ¢
T <E - P T
+ \}';‘f, | —x Tkopz?

Translate the words into an inequality and graph. Then find all of the'clioices that would have this graph
as a solution.

7) A number is at least 3. —3 W > =3

®x+232—4(x—2) _ o) 2x +7 L3x +¥
2J6c+71—x22x+4 s 3’))(-\'? > WX ‘f‘" 0’) %’( s-'l-g )"'2—}( =%
))—6x <18 il —— —_—
(x+1)s3x+5 XX S | 2EX1S
F 2 Xt X2-3 ~§7  ~§
R) X 4233 -4 +§ e M -3¢&X
yix  Hx BN B B -3
5X +2} 2 & X£3 i3 7
g
5 >-I5
5 5

X273 -1-



Solve each compound inequality and graph its solution.

. =T > c <
% 1<% 50 9)5‘%1."*47*:3.:;
E T2 0 2 3 456 78 9101 12

1-10:\—;(:.:64_:4:_12:*: 2:; X’}Z' 24X ¢3

§) -1¢X5 6208 T T
¥ ¥ | YT
X 2% X&l
-8¢X  yceo
-~ <X <O
10) 10x—1<39 or 6 — 8x <—42 - - 11), 5k +'5 < ~40 or -8 — 5k < —48
= 5, 2 & ,:\—’.—?
0 1 2 3 5 7 8 9:1:‘11, ‘-%‘ VR EL A
"'l + —@ = -5 ~-S N "’L +& =
10X <40 5x ¢4& Sk 4s 2k LTL*:{:—
o v -5 < 5
X<y X>6 ke -9 k>8

12) The French club is sponsoring a bake sale. If their goal is to raise at least $140, how many pastries must
they sell at $3.50 each n order to meet that goal? Write and solve the inequality.

s.iox > 140
3,5'0 ; 3?5'0
X 2 40 pa.s+rﬂe$

13) The width of a rectangle is 33 cm. The perimeter is at most 776 cm.
a) Write and solve an inequality to find the length of the rectangle.

Wi+ 2L £ 7706 z_g 4710
UB) F2L £ 77 |
& Tt e J£ __"35"3’cml

b) Write an inequality to find the area of the rectangle.

4
@%%Cg);f Az 7S em?

HAIS £4 f

14) Four times the quantity of the sum of a number and 15 is at least 120 and no more than 165. Write and
solve a co;n_%%ld inequality to find all possible values of x.

Ll(x+/€) > /20 4 (x+é09) ﬁ/é?s so, 120 4(x15) €165
X + 0 ¢

X %—c(ﬁg -2 qx—————safé T /f £ X 4 zw,c'(

tx 2 x & 108 .= i
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1. Find the domain and range of each relation. Then determine if it is a function. Is it a linear
function?

i 2 41 ¥l k1

e e s

a. {(1,5),(-1,3),(2,7),(8,10), (-2, 3)} c TaTalol 113

L I P = X 2 | 6 |10 14|18

Dlll ‘,;:84 1—25 -2 | B ! o A

Z“Eslbl}llolsa - 53. D‘i'S . +4 +4 44

| ¢ - VOl 25 .
‘ ‘ ' o Lincor
Fvnchm) Net Linear & ?’o 2. i_‘L,L,lo,l‘f, 183 Funchen, NeT &

| 71 b | f
b. | i | . d i >

D %Ye x s L T D: g xe 43 J aumE
Rigueyery o Riivesy

| o
Not oo Funchon - I Faneten

| ] l/m,t,a,t"

& B

e
[

!

I ] e
T

|

|

. !
T A;wn‘ 2 | T _I“_t'—!’_tﬂf:'f‘? {2

2. Given the set of points, illustrate the domain and range in 3 différent ways (i:e. mapping, table,

graph).:'
’ {(-1,2),(1,9), (-1,-3), (3,9), (5, 8)} =i
Vossible: X | Y ’
N -1
> -1 3 Y A
‘ C e %
3 9
si&
3. if f(x).=2x2 +3and g(x);—4+2x,evqlt1‘ate each of the following.
. 2Q) . (1) c. g0+ /(-4)
9(2) = -4 +2(>) £ = 2(-) +3 9(e) = -y +2(3)
SEhs I A " te=2
9 = o s ) = L) 43
=2(1)+3
= 3243-35

7 +35 ']E



£(x)= 0.20x + (00

4. Alan pays AT&T a flat fee of $60 a month plus $0.20 per minute over his monthly package. Write

a function to represent Alan’s total bill.
How much is Alan’s bill if he talks 10 minutes over his monthly package?

£L10) = 0.20(10) +60
= 7 Y00
= B0L

b. If Alan’s bill was $80.20 how many minutes did he go over his monthly package?

d.

80i20 = 01 20X + (O lol = x
o —o ‘
?.o. 020X 10l minutes
Write a function to repreEEach table, pa?tern or sequence. .

O A5 13 g ri . & a
6.- a;=10 d=-4

2 |1 4| 6 8 | 10

5. X
fo) | 4 | -1 ] 2 | 5 |8 ey - 2,72,
e S e e ) »H 'sgff: ‘5"' ,
oy oy 20 Herm g
fic)= 2 r\‘-"4r1+|'-|
£
- -
.. o0 68  deees eeeee
‘T 200 00000 (I X 1)
2y \ St nd el ..J.v.. - i
Yo um o £ =4dx -2
Construct a graph, given the information below.
8. f(x)=3x—1 : R
1 ﬁ' -
Fiise




9. Compare the functions below {steepness, domain, and range, positive vs. negative rate of

change). l .y |
i ' L
|
~N
T~
i
EREEEEERN 1""‘\; x
2 |
2= e Ll
ﬁ;n:mus T
fnes

steepness: L€SS Sieep
Domain: {*"' £X ¢ 03
Range: i_‘ 5Y$ ;'S
Positive {Negative -
y-intercept: \.%
x-intercept: 3 'S

10. Usingthe graph to the right, find the following:

a. x-intercept
- | 53

b. y-intercept

3

=
-

c. f(-3)

d. find x when f(x) =8

I

11. Find the x- and y-intercepts of the following equations.

e. —3y+4x=-24

X -int \[=int
~3(o) #tx=tf 3y rile) ="
ﬂ:{&:”}if ==

4 v =5

X="0

(

=15,0) Co,8)

| | T i [
| 3 /J -
) 4 ||
. /

AN -.‘f‘

. yik
} £y

3 r 4 ) s § In

“’Qi::nfﬁua:o
Steepness:  SteepeN
Domain: EX2-3%
Range: i\/z-zﬁ)
Negative
y-intercept: 3,5
x-intercept: -2

_.’

L] 0 T O
| / | :
ENAREEE

BN !

! | 1
NEREE
e R NN
l | ||

-l " T | [3 ? E] F: !I

| | |
| . P
1] |

i i

B A T

!

X -ink: \=o \/-m*; X=0
b. 6x=2y+12 _ink
\ink
— = o) +1?

UCO\ =1y +1 Oéx =1t

O =2 +IT —_—

- \/'f-L & &

"’L:Zi /(0:\/ X-

z (,Z.o)
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Sketch the graph of each line.

1) Sx+3y=-6 5)(:1,3\/:-(, 2) 3x-y=4 .
Ay —5X Ay
1T 7o o 3x-y =Y

N 33 2 —5X

TN G T -y = 3x+y
J_._, | f T . :'Sx 'Z = i l = == —
G _B\X 7 1 4 -’x\l 3 6 p BB P -1} / 7 3 [ —I l l

55 \\ | / \/= 2x-
, 4 Q. || lL/"w |

Write the slope-intercept form of the equation of each line given the slope and y-intercept.

Y =Mx+b

3
3) Slope= e y-intércept = 0
- 3
Y’qx

Write the slope-intercept form of the equation of each line.

4) 6x+7y=-56
—oX = \ox

’4.\/
z
Y

-5
7

x -8

‘\J\G ‘\J?:



Whrite the slope-intercept form of the equation of the line through the given point with the given slope.

5) through: (0, —5), slope=l3—0 6) through: (—1, —3), slope = —%
y-mx +vo Yir S -9 =7+ 3b
-5-‘0(@3 +b ’3“”1(—!) +h -::;_ -3
SR ey =
- 3h 3 | -
Q@ =F+ T &, _lo.
Write the slope-intercept form of the equation of the line through the given points. ! \/ = =3 A 3
7) thrqugh.( 1,-5) and (-2, 1) M= \)’{5_-\:{- 8) through: (-2, ~1)and (~4,~4) —
me WS . Lo \pFmxih medtl 3.3 = N’fb '
-4l - | =-6(-2) b qfLTLTT -‘{ -3() +b
: o 1= lttb v =-GLth ’ Axtl
\\I='@X’\l\ o t‘.e__’_*‘_‘_—
Write the slope-intercept form of the equation of the line described.
9) through: (-3, 3) paralglel toy=—-6x+5 10) through: (—3, —4), parallel to y =-5
\‘*mx-ﬂo e Jerrx 4 b M=o
=~ = —(n —I -
3“?,{‘7’3% | Y= —bx 5{ -4 =0(-3)tb .y
-l ~1§ -Y=h l\{'
-,s:b
11) through: (—3,2), perp.to y=x—2 12) through: (—5, 5), perp. to y =4 S{oPe= IMOLCHNJ(
y=mx th me=|
2= (1)(-8) 4o V-
25% b W"'""’ ( lz(___.f_.t
-3 - dl_ _
-l =k
Describe each transformation from the parent function. o : —
;| Rokuled by fchr § | Reflecked
13) y=2743 | o iPded op? 14) y=-7%-3 | Rokwted oy fachor of 3_
e Sh\ﬁ‘kd Dmﬂn 3

Write the inverse function.

15) y=3x-2 X=3y-1
+T

-2 +1 ' Z-
:"'X+——
3131.% '\/3 3




Algebra 1
Final Review - Unit 5 WS

Solve each system by graphing.

1) y=-2x-3
= ¢+ 1
=——x
r=73

g ('5/5)

Solve each system by substitution.

3) 9x+3y=-27
y=3x-9

-y +5@"‘):'H
-9% + 9 -23--27
- Zq: ’27’

Iﬂ'ﬁnl!‘k S\bld'h;MS

Name

i, =243
1 + |
N
\;\ X+ 3yl

Y
b \ ¥ =X

JISSENNAENEE %}{‘ﬁ'ﬁ'ﬁ
\"\*__ 3 3
JTIONT  \=x-2
Y \J 3 ’

4) 3x-dy=-1 -3 K-dy=—|
TS(-y=18) -3k HSy=-5Y

T

|
V:'?

Y -5(5) =I8

EE )
X="7




Solve each system by elimination. 2%

-
S(xr-3y=3) = ~X+dy= "3 6) (36x+36y=-27) = - JOOFX+ 100 y= -0
5x-3y=27 HK -3y= 2% Jo(@8x-28y=28 Y =  \006X — 008y = 100&
yx =24 O = 252

Y Y I
X= r No Solohon
(0—3\/:3

e ()

Y=l
DifFevld Jo set vp
he sum of the digits of a certain two-digit number is 11. Reversing its digits decreases the number by 27.

What is the number? \Ox -\-\l = O ‘nq\ nomoer
X -\'\[ =\ \O\\{ X = Nowoer wini/mn ch&a'-\—s are Yeversed

10y X = 10X +¢/ -23 (X +\,.—\D — 9k +W="79

Y =iox - 10X - "'ol)(/ *ﬂ\/{!: -1% -9 +q\;. =-13
i i 18y - 32

Qy -9x= "¢t | eyl ST
_X”:..?ﬂ \/: q

7He s 7Y

8) The school that Julia goes to is selling tickets to a play. On the first day of ticket sales the school sold 9
senior citizen tickets and 9 student tickets for a total of $144. The school took in $166 on the second day
by selling 6 senior citizen tickets and 13 student tickets. Find the price of a senior citizen ticket and the price

of a student ticket.

X-Snwes  —l(ax +9y = 144)= - ’ZfX'S"V’ ~ B

Y - Shdents 9 (Ox +13y=106) = SHX +11Fy = 44
3y = (30
oo G
" gy a0 y=10
gx = S4. e —
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